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PHILOSOPHY
( Major )
Paper : 6.3

( Contemporary Western Philosophy—II )

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7
et oo fraraee Seq i
(a) Which of the following statements is
correct?
SR @ S 0% 2

(i) Existentialists think that life can be
known completely by reason.

SRR ol @ IHER TN G
o WA iR |
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(2)

(i) Existentialists think that life cannot be
known completely by reason.
SRR S @ {f%ﬁ @ S
o Wi TR |

- (iii) Existentialism emphasises abstract
thinking.
SRR RIS o sy o G |
(iv) Existentialism supports naturalism.

SRR 4O WL F¢I |
(Choose the correct option)

(e7 Rt qf> Sferean)

(b} Which of the . following groups of
philosophers is a group of atheistic

existentialists?
woe i e R eTe @G
AT 1 AT SRR 7 2

(i) Kierkegaard, Heidegger, Jaspers
oS, 2R, EHE

(ii) Heidegger, Marcel, Sartre
FRCTIE, Wb, B

(iii) Sartre, Nietzsche, Heidegger
=, fAees, AT

(iv) Sartre, Heidegger, Jaspers
R, FRCAH, (oY

(Choose the correct option}

(o= Rescor b Sferear)
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(c)

(d)

8A/870

(3)

Who among the following philosophers did
say “‘God is Dead’’?
we s miiermr e @RRPIE
“Sog o’ I e 2
(i) Plato
CETh!
(ii) Hegel
o
(iii}) Nietzsche
e
(iv) Kierkegaard
MG

(Choose the correct option)

(% Resdr Ao Bfenean)

Who among the following is the author of
The Phenomenology of Sprit ?

e BEy T AR fOUS (FHSAR The
Phenomenology of Sprit Z8443 IHF?

(i} Husserl
B

{ii} Kant
I

(iii) Descartes
SR

(iv) Hegel

Qo (Choose the correct option)
' (o= fRSsico! Ao Srerean)

{ Turn Over )



(e)

1

(g

8A/870

(4)

Which of the following pairs is not perfectly
matched?

e il @R e @l @R
sfdera fe cam AR ?

(i) Essence precedes existence—
Essentialism
a1 31 R SR S{oN—TerH

(i) Concluding Unscientific
Postscript—Heidegger

Concluding Unscientific
Postscript—323¢sMd
(iii) Will to Power—Nietzsche
T ST TW—ET
(iv) Logical Investigations—Husserl
Logical Investigations—==el
(Choose the correct option)

(w=m Rescor Ao Tferear)

In Sartre’s philosophy, freedom and
responsibility are two mutually exclusive
concepts. Is it correct?

T TS FRITO! SF TEIwO! R I
B! 4R | G001 %A ?

Who wanted to establish philosophy as a
rigorous science?

QA e 9 IOR &= B 253 shq

- Reffeet 2
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(S)

2. Answer the following in brief :  2x4=8
were AT o Ted fa

(a) Why does Kierkegaard say that the aesthetic
mode of existence is the life of pure
immediacy?

PSS TR oRe o Rom
SeHIFeR e 3o (TR ?

(b) What is ‘re-evaluation of values’ according
to Nietzsche?

eI oo JaR oFfenms’ iew 2

{c) In what sense does Sartre understand the
nature of consciousness?

voe 2o Rec =icds q@n 2
(d) Why can Husserl be called an intuitionist?

e 1 RS FERm 3F efeRe IR
1 2

3. Write short notes on any three of the
following : 5x3=15

oo i e fofom R g o forat -

(a) Religious stage of human existence in
Kierkegaard’s philosophy

Fiome e Te SF (T B
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(b)

(c)

(d)

(e)

(6)

Nietzsche’s concept of ‘superman’

Rt ST’y €39

Husserl’s  concept of  ‘Life-world’
(Lebenswelt)

TREfd ‘AR IS AT S-S
{Lebenswelt)-3 4R

Descriptive phenomenology

e 2SI A 2feept fwm

Relationship  between freedom  and
responsibility in Sartre’s philosophy

RS e T8Ol IF TRREOR 770

4. Answer the following (any three) : 10x3=30
et fraarea T fan (R e fefbt) -

(a)

(b)

8A/870

Discuss briefly each of any five general
characteristics of existentialism.

SRR MR RREEPYR R @I #iiohR
AT RETH 55 SICAS ST |

‘““Existence precedes essence.”” Explain and
examine the statement. '

‘“af¥g TTER [T 1 SR T we
b 741 1
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(c)

(d)

(e)

()

8A—5000/870

(7))

What does Kierkegaard mean by saying
“Truth is subjectivity and subjectivity is
truth”’? Explain.

‘orerelR (xR WINEl q wHfgel W
wfyel A WRABOR (TR FOrel” @R
SReCo T PSR R 2 W A

Why is Nietzsche regarded as a nihilist?
Explain his nihilistic philosophy briefly.

feore 9 @@ e & e s
W (WA FRM T REw sy

‘‘Man is condemned to be free.”” Discuss the
significance of this statement.

‘AR FRA A [0 I A6 17 @7 Tfeon
1o SEAGAT T4 |

Write an introductory note on Husserl's
phenomenology.

e Aofeam 1 Afoem e e 99
AfRoAger B for 1
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